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N T * I A ^ $ J # B * B U A R Q D & L O @ P T ! F 

How many such symbols are there in the above series which is immediately 

followed by a consonant and immediately preceded by vowel? 

उपरोक्त श्रखंला में ऐसे कितने प्रतीि हैं किनिे ठीि बाद एि व्यंिन और ठीि पहले स्वर ह?ै

1. Two 

2. Three 

3. One 

4. Four 

5. None of these
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N T * I A ^ $ J # B * B U A R Q D & L O @ P T ! F 

If we remove all the symbols from the above series then which 
among the following alphabet is the 9th from the right end? 
यकद हम उपरोक्त श्ररखंला से सभी प्रतीिों िो हटा दें तो कनम्नकलकखत में से िौन सा अक्षर दायें 

छोर से 9वां ह?ै

1. R 2. Q 3. D 4. A 5. None of these
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How many pair of letters are there in the word “CONDITION” which 

has as many letters (in both forward and backward direction) in 

between as they have in English alphabet series?

शब्द “CONDITION” में अक्षरों के ऐसे ककतने युग्म हैं किनके बीच में उतने ही अक्षर 

हैं (आगे और पीछे दोनों कदशाओ ंमें) कितने उनके बीच अंगे्रिी वर्णमाला श्रंखला में 

हैं?

1.Two

2.Three

3.Four

4.None of these

5.One
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Statements : 

A = B ≥ C = D ≥ E = F

Conclusions : 

I.  A ≥ F  

II.  A = F 
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Statements:

T < S < O = P = J > G > H ≥ A

Conclusions:

I. P > T

II.    A < O
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Statements: 

X < A ≤ H ≤ B; J = K; K ≤ B

Conclusions:

I. B ≥ J

II.  X < K
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In a Certain code SPOT is written as 26710 , than find the code 

for FARM ?

एक कनकित कोड में SPOT का कोड 26710 कलखा गया है , तो FARM का 

कोड क्या होगा ?

(1) 611813

(2) 6194

(3) 6914

(4) 4916

(5) None of these
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In a Certain code READ is written as 14 , than find the code for

HEAR ?

एक कनकित कोड में READ का कोड 14 कलखा गया है , तो HEAR का कोड 

क्या होगा ?

(1) 32

(2) 10

(3) 7

(4) 8

(5) None of these
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Statements :

Only a few flutes are drums.

All drums are pianos.

Only a few pianos are Melody.

Conclusions:

I. Some drums are melody.

II. No drums are melody

िथन : 

िेवल िुछ बांसरुी ड्रम हैं। 

सभी ड्रम कपयानो हैं। 

िेवल िुछ कपयानो मेलोडी हैं। 

कनष्िर्ष: 

I. िुछ ड्रम मेलोडी हैं। 

II. िोई ड्रम मेलोडी नहीं है
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Statements :

Only a few flutes are drums.

All drums are pianos.

Only a few pianos are Melody.

Conclusions:

I. Some drums are melody.

II. No drums are melody
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Statements :

Only a few tables are blue.

Only a few blue are clever.

All clever is old.

Conclusions :

I. Some tables are clever is a 

possibility.

II.   Some old are tables

िथन : 

िेवल िुछ टेबल ब्ल ूहैं. 

िेवल िुछ नीले चतरु हैं। 

सभी चतरु वरद्ध हैं। 

कनष्िर्ष : 

I. िुछ टेबल िे चालाि होने िी

संभावना ह।ै

II. िुछ ओल्ड टेबल हैं
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Statements :

Only a few tables are blue.

Only a few blue are clever.

All clever is old.

Conclusions :

I. Some tables are clever is a 

possibility.

II.   Some old are tables
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Statements:

Some mango is guava

Some guava is Grapes

Some Grapes is orange 

Conclusions:

I. At least some orange is mango

II. Some Grapes is definitely 

mango

िथन: 

िुछ आम अमरूद हैं 

िुछ अमरूद अगंरू हैं 

िुछ गे्रप्स ऑरेंि हैं 

कनष्िर्ष: 

I. िम से िम िुछ संतरे आम हैं 

II. िुछ गे्रप्स कनकित रूप से मैंगो हैं
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Statements:

Some mango is guava

Some guava is Grapes

Some Grapes is orange 

Conclusions:

I. At least some orange is mango

II. Some Grapes is definitely 

mango
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Statement: 

Only east is north 

Only a few east is south 

All south is west

Conclusion: 

I. Some north being west is a 

possibility 

II. Some east is north

िथन: 

िेवल पवूष उत्तर ह ै

िेवल िुछ पवूष दकक्षण हैं

सभी साउथ वेस्ट ह ै

कनष्िर्ष: 

िुछ उत्तर िे पकिम होने िी संभावना है

िुछ ईस्ट नॉथष है
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Statement: 

Only east is north 

Only a few east is south 

All south is west

Conclusion: 

I. Some north being west is a 

possibility 

II. Some east is north
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There are six members in a three-generation family i.e. P, Q, R, S, T and U. Among 

them two married couples and only two males. U is the mother in law of Q. P, who is 

unmarried and T are siblings. Q’s husband has only one child. R is the father of T. 

एि तीन पीढी िे पररवार में छह सदस्य हैं अथाषत P, Q, R, S, T और U. उनमें से दो कववाकहत यगुल और 

िेवल दो परुुर् हैं। U, Q िी सास ह।ै P, िो अकववाकहत ह ैऔर T भाई-बहन हैं। Q िे पकत िी िेवल एि 

संतान ह।ै R, T िा कपता ह।ै

How is T related to S’s grandmother? 

T, S िी दादी से किस प्रिार संबंकित ह?ै

(a) Son 

(b) Father 

(c) Mother 

(d) Daughter 

(e) Brother 
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Ram travels 8 km. towards North, then he turns to his right and walks 4 km. He 

again turns to his right and moves 5 km forward. Now in which direction is he 

from his starting point ?

राम 8 किमी िी यात्रा िरता ह।ै उत्तर िी ओर िाता ह,ै किर वह अपने दायें मडु़ता ह ैऔर 4 किमी चलता 

ह।ै वह किर से अपनी दायीं ओर मडु़ता ह ैऔर 5 किमी आगे बढता ह।ै अब वह अपने शरुुआती कबंद ुसे 

किस कदशा में ह?ै

1) North

(2) South

(3) East                                                  

(4) West

(5) None of these
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Seven people A, B, C, J, P, Q and R are 

sitting around a circular table, facing 

the centre, not necessarily in the same 

order. Person A is sitting exactly in 

between R and J. R is not sitting 

adjacent to C. B is not an immediate 

neighbour of P. Person C is sitting to 

the second right of J and C is sitting 

exactly between B and Q.

सात व्यकक्त A, B, C, J, P, Q और R 

एि वरत्तािार मिे िे चारों ओर िें द्र िी

ओर मखु िरिे बैठे हैं, िरूरी नहीं कि 

इसी क्रम में। व्यकक्त A, R और J िे ठीि 

बीच में बैठा ह।ै R, C िे आस-पास नहीं 

बैठा ह।ै B, P िा कनिटतम पडोसी नहीं 

ह।ै व्यकक्त C, J िे दायें स ेदसूरे स्थान पर

बैठा ह ैऔर C, B और Q िे ठीि बीच 

में बैठा ह।ै
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Seven people A, B, C, J, P, Q and R are 

sitting around a circular table, facing 

the centre, not necessarily in the same 

order. Person A is sitting exactly in 

between R and J. R is not sitting 

adjacent to C. B is not an immediate 

neighbour of P. Person C is sitting to 

the second right of J and C is sitting 

exactly between B and Q.
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Seven persons- K,L,M,N,O,P and Q 

were born in different years – 1969, 

1973, 1978, 1982, 1988, 1990 and 1995 

but not necessarily in the same order. 

The age difference between P and O is 

a perfect cube number. The number of 

persons born after O is same as the 

number of persons born before N. K is 

older than Q. The difference between 

the age of N and B is a prime number. 

Age of each person is calculated on the 

base year 2022. M is two years elder 

than O. B born in 1978.

सात व्यकक्त- K, L, M, N, O, P और Q िा

िन्म अलग-अलग वर्ों - 1969, 1973, 1978, 

1982, 1988, 1990 और 1995 में हुआ था, 

लेकिन िरूरी नहीं कि इसी क्रम में हों। P और O 

िे बीच आय ुिा अंतर एि पणूष घन संख्या ह।ै O 

िे बाद पैदा हुए व्यकक्तयों िी संख्या N से पहले 

पैदा हुए व्यकक्तयों िी संख्या िे समान ह।ै K, Q से

बड़ा ह।ै N और B िी आय ुिे बीच िा अंतर एि 

अभाज्य संख्या ह।ै प्रत्येि व्यकक्त िी आय ुिी 

गणना वर्ष 2022 िे आिार पर िी िाती ह।ै M, 

O से दो वर्ष बड़ा ह।ै B 1978 में पैदा हुआ।
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Seven persons- K,L,M,N,O,P and Q 

were born in different years – 1969, 

1973, 1978, 1982, 1988, 1990 and 1995 

but not necessarily in the same order. 

The age difference between P and O is 

a perfect cube number. The number of 

persons born after O is same as the 

number of persons born before N. K is 

older than Q. The difference between 

the age of N and B is a prime number. 

Age of each person is calculated on the 

base year 2022. M is two years elder 

than O. B born in 1978.
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Seven persons- Asha, Tom, Jiya, Hira, Tua, 

Preet and Vina are living in a seven-storey 

building, but not necessarily in the same 

order. The ground floor is numbered 1 and the 

floor above it is numbered 2, and so on, until 

the topmost floor is numbered 7.Vina lives on 

the lowermost floor. Only four people live 

between Vina and Asha. Tua lives on an even 

numbered floor. Only two people live 

between Tua and Preet. Tom, who is an 

immediate neighbour of Asha,lives on an odd 

numbered floor. Only two people live 

between Asha and Hira. Jiya lives on an even 

numbered floor, below Tua.

सात व्यकक्त- आशा, टॉम, किया, हीरा, तआु, प्रीत और 

वीना एि सात मंकिला इमारत में रह रहे हैं, लेकिन िरूरी 

नहीं कि इसी क्रम में हों। भतूल िी संख्या 1 ह ैऔर इसिे 

ऊपर िी मंकिल िी संख्या 2 ह,ै और इसी तरह, सबसे 

ऊपरी मंकिल िी संख्या 7 ह।ै वीना सबसे कनचली मंकिल 

पर रहती ह।ै वीना और आशा िे बीच िेवल चार लोग 

रहते हैं। तआु एि सम क्रमांकित मंकिल पर रहता ह।ै तआु 

और प्रीत िे बीच िेवल दो व्यकक्त रहत ेहैं। टॉम, िो 

आशा िा कनिटतम पड़ोसी ह,ै एि कवर्म संख्या वाली 

मंकिल पर रहता ह।ै आशा और हीरा िे बीच िेवल दो 

व्यकक्त रहते हैं। किया तआु िे नीच ेएि सम संख्या वाली

मंकिल पर रहती ह।ै
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Seven persons- Asha, Tom, Jiya, Hira, Tua, 

Preet and Vina are living in a seven-storey 

building, but not necessarily in the same 

order. The ground floor is numbered 1 and the 

floor above it is numbered 2, and so on, until 

the topmost floor is numbered 7.Vina lives on 

the lowermost floor. Only four people live 

between Vina and Asha. Tua lives on an even 

numbered floor. Only two people live 

between Tua and Preet. Tom, who is an 

immediate neighbour of Asha,lives on an odd 

numbered floor. Only two people live 

between Asha and Hira. Jiya lives on an even 

numbered floor, below Tua.
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An uncertain number of persons are sitting in a 

straight line facing north. Three persons sit 

between P and Q. R sits second to the right of P. 

Only three people sit between Q and S. T is 

immediate to the left of P. R sits fifth from the 

right extreme ends of the row. X sits on the 

extreme end of the row. As many people sit 

between R and U as many between U and S. Y 

sits second to the left of V, who is an immediate 

neighbor of Q. Not more than two persons sit 

between V and S. Five people sit between S and 

X. As many people sit between S and W as many 

between W and X.

व्यकक्तयों िी एि अकनकित संख्या एि सीिी रेखा में उत्तर 

िी ओर उन्मखु होिर बैठी ह।ै P और Q िे बीच तीन 

व्यकक्त बैठे हैं। R, P िे दायें से दसूरे स्थान पर बैठा ह।ै Q 

और S िे बीच िेवल तीन लोग बैठे हैं। T, P िे ठीि 

बायें ह।ै R पंकक्त िे दायें अकंतम छोर से पांचवें स्थान पर 

बैठा ह।ै X पंकक्त िे अकंतम छोर पर बैठा ह।ै R और U िे 

बीच उतने ही लोग बैठे हैं कितने U और S िे बीच बैठे 

हैं। Y, V िे बाए ंसे दसूरे स्थान पर बैठा ह,ै िो Q िा 

कनिटतम पड़ोसी ह।ै V और S िे बीच दो से अकिि 

व्यकक्त नहीं बैठते हैं। S और X िे बीच पांच व्यकक्त बैठते 

हैं। S और W िे मध्य उतने ही व्यकक्त बैठे हैं कितने W 

और X िे मध्य बैठे हैं।



IBPS / BANK / LIC / SBI at 9:00 AM

An uncertain number of persons are sitting in a straight line facing north. Three persons sit between 

P and Q. R sits second to the right of P. Only three people sit between Q and S. T is immediate to 

the left of P. R sits fifth from the right extreme ends of the row. X sits on the extreme end of the 

row. As many people sit between R and U as many between U and S. Y sits second to the left of V, 

who is an immediate neighbor of Q. Not more than two persons sit between V and S. Five people 

sit between S and X. As many people sit between S and W as many between W and X.
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A certain number of persons are sitting in 

the row. All of them are facing towards 

south. Q sits sixth from the right of S. T 

sits forth to left of Q. Only two persons sit 

between Q and P. Six persons sit between 

W and V. R sits forth to the left of S. U 

sits between S and T. V sits second to the 

left of U. W is third from any of the end. S 

is eight from the left end of the row.

पंकक्त में कनकित संख्या में व्यकक्त बैठे हैं। उन सभी िा 

मखु दकक्षण िी ओर ह।ै Q, S िे दायें से छठे स्थान 

पर बैठा ह।ै T, Q िे बायें बैठा ह।ै Q और P िे 

बीच िेवल दो व्यकक्त बैठे हैं। W और V िे बीच 

छह व्यकक्त बैठे हैं। R, S िे बाई ंओर बैठता ह।ै U, 

S और T िे बीच बैठता ह।ै V, U िे बाई ंसे दसूरे 

स्थान पर बैठा ह।ै W किसी भी छोर से तीसरे स्थान 

पर ह।ै S पंकक्त िे बाए ंछोर से आठवां ह।ै



IBPS / BANK / LIC / SBI at 9:00 AM

A certain number of persons are sitting in the row. All of them are facing towards 

south. Q sits sixth from the right of S. T sits forth to left of Q. Only two persons sit 

between Q and P. Six persons sit between W and V. R sits forth to the left of S. U sits 

between S and T. V sits second to the left of U. W is third from any of the end. S is 

eight from the left end of the row.


